1€ - ¥¢

€C- L1

9T - 0T
6-¢

Asrycr

92 - 02
6T - €1
-9
S-6C
8¢ - 7¢
2 [1z-s1| S
Q
£ |vr-8
-1
1€- 52
< |bT-81
1]
= (z1-11
0T -
€-/2
. |9z-oz
=
8 |eT-¢€1
b=

21-9
S-0€
6¢ - €2
2T - 91
ST-6 % \
8-¢

3IK|K|IK]K|K]K
IK|K|IK]|K|K]K
ninininminliKlK

m m m

//////////////7////////////7/////////////@
7/////////////7/////7////////////%;

2 43 44145146|47]|48]149(50] 5152

: 7//%-%
TEETTEIT

;//////////////M;

8 29 30 31 32 33 34 35]|36|37(38 39 40 41

////

\ //////////,_%%/,%/,-_/////////////_

T-€¢
¢C-91

w
é
%

/

Uit
L
m
m
m
m
7//

* Y% A

7/
7/
Z

Hepabouwe npa3gHuyHble gHK (He

BKJ/THOYasl BOCKpeCeHbs)

3 |2K3aMeHaLMWOHHble ceccmm
N |UTorosas atrectTaums

M [MNpakTnku
K |KaHukynbl

2 EETE DDA A hhHHH 2SN
e lg-z [ EEENCCEEE ////////////////_
I-97 N W/, KKKKK _///////_
NERIE \[o[o|] ]| m]m]m]m]s ;////////////%;
HEEE \\\\N\\\\EEEENN
N 133200 AN aA3 SR Aaa
b -62 mmm ***** // **********
NEEZEI \\\\ NN\ Z&
& [T\
& [ s [SAN\A\\\\\N\\\\\
ZEET\\\\\ N\ ZEEEE \
EEEE NN\ G
FIEIEREE \\\N\\\\\\EE 3
mmoﬂoﬁm%//////////;//////////////; = |z
| mwm-w%z//-/ﬂzn_n_ EEE : | B
= | MEREAE NN 2
W EEEE N\ . |
)| BT — —— g| 2
il EELIR . ! 3| S
cesee JoBPITTE = B 5| 8¢
2 o el _7////////////_ = * 5| 83
B fel B o 1Bt
o e _///////////////H_w%%nn, = = | g8
Mm“mrn = Wm = Wn m = = = = A\

*




